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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 a 1919 3.2 1 4 79.3 99.9
1 b 1910 5.4 1.7 8 68 99.4
2 a 1918 0.9 0.7 2 43.5 99.8
2 b 1889 2.7 1.9 6 44.8 98.3
3 a 1909 2.2 1.2 3 73.4 99.4
3 b 1913 2.4 1 4 60.9 99.6
3 c 1878 1.3 1.1 4 33.3 97.8
4 a 1881 1.1 0.9 2 55.8 97.9
4 b 1877 1.2 0.7 2 58 97.7
4 c 1908 3.4 1 4 84.7 99.3
4 d 1902 1.3 0.8 3 42.2 99
4 e 1870 2.2 2 8 27.6 97.3
5 1775 3.1 2.7 10 30.6 92.4
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AS Business Unit 1

Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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1 (b) Evaluate two sources of finance which Joe Charman could use to expand Pilot 
Plus.  [8] 


Band 
AO1 AO2 AO3 AO4 


2 marks 2 marks 2 marks 2 marks 


2 


2 marks 
Knowledge of two 
sources of finance 


2 marks 
Good application to 
Joe Charman  


2 marks 
Good analysis of 
both sources of 
finance 
 
The analysis is fully 
balanced, detailed 
and developed in 
context 


2 marks 
A good well-
reasoned 
evaluation of both 
sources of finance 
 
Evaluation is likely 
to include 
judgements 


1 


1 mark 
Knowledge of one 
source of finance 


1 mark 
Limited application 
to Joe Charman 
 
Superficial or 
generic discussion 


1 mark 
Limited analysis of 
one source of 
finance 
 
Superficial or 
generic discussion 


1 mark 
Limited evaluation 
of one source of 
finance 
 
Supporting 
comments lack 
depth 


0 
0 marks 


No relevant 
sources of finance 
identified 


0 marks 
No application to 
Joe Charman 


0 marks 
No analysis 
undertaken 


0 marks 
No evaluation 
undertaken 
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Indicative content: 
 
Retained profit is a cheap form of finance as there are no financial charges, such as 
interest rates. Joe Charman, however, would have to make a sacrifice as the profit is not 
available for personal expenditure. As this is a relatively new business, low profits may 
hinder the pace of growth.  
 
Borrowing from Welsh Government via Business Wales - fast track loans are allocated 
to businesses. Rates of interest are competitive and benefit small firms by enabling them to 
take advantage of growth opportunities. Sound business advice could also be offered to 
support Joe Charman. However, the criteria for accessing these loans are strict and 
businesses have to convince Business Wales of their strong potential for growth. 
 
Borrowing from banks - money does become immediately available if the loan is agreed. 
However, banks have been reluctant to support small businesses since the economic 
downturn in 2007. Interest rates tend to be high and availability is limited. Joe Charman 
would also have to present a detailed business plan. As he is a Business graduate, he would 
be able to complete this with ease. However, as Joe Charman is young, he is unlikely to 
have any assets which could be used as security against the loan limiting the amount that he 
could borrow. 
 
Grants from Welsh Government - the Welsh Growth Fund offers grants to businesses that 
they feel have potential for growth. Grants have the huge benefit of not having to be repaid 
and a considerable amount of expert support is offered along with these grants. However, 
they are not easily attained and again a very sound business plan has to be presented by 
Joe Charman to convince the growth fund that the business has potential. Sometimes the 
business may have to match the grant with its own funding.  
 
Venture Capitalists/Business Angels may offer finance to small and medium size 
businesses and their expertise may also be helpful to Joe Charman in achieving growth. 
They will, however, require some form of equity and Joe Charman will have to sacrifice a 
degree of control which he may not want to do.  
 
Finance can be attained from friends and family. There is no requirement to provide 
business plans or meet any conditions and it can be made available quickly. There may or 
may not be interest required. However, failure to repay the money may lead to family issues 
arising and the sums required to finance growth are unlikely to come from such a source.  
 
Change of ownership - Joe could become a partnership or Ltd. Joe may benefit from 
expertise of additional partners or shareholders in addition to increased capital. However, 
Joe will face a loss of control if he changes the legal structure of the business.  
 
Other forms that are acceptable include leasing, hire purchase, mortgage for building, 
owners’ capital, personal savings and sale of unwanted assets. 
 
Accept any other valid answer. 
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8 marks awarded. There two relevant sources of finance (bank 
loan and venture capitalist) have been outlined. Both sources are 
well applied, analysed and evaluated. 


Answer is 
applied to 
Joe Charman.


Application
to Joe 
Charman.


Evaluation of 
a bank loan 
as a source 
of finance.


Analysis of a 
bank loan as 
a source of 
finance.


Analysis of 
venture 
capitalist 
as a source 
of finance.


Evaluation of 
venture 
capitalist as 
a source of 
finance.


8












5 marks awarded. There is knowledge and understanding of 2 sources of finance, family/friends 
and a bank loan (AO1 - 2). There is limited explanation of friends/family as a source of finance and 
there is evaluation of both sources of finance (AO3 - 1, AO4 - 2). However, the answer is not 
applied to Joe Charman (AO2 - 0).
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8 marks awarded. There two relevant sources of finance (partner an
have been outlined. Both sources are well applied, analysed and evaluated. 


Application to 
Joe Charman.


Application to 
Joe Charman.


Application to 
Joe Charman.


Analysis of a 
partner as a 
source of 
finance.


Analysis of a 
bank loan as 
a source of 
finance.


Evaluation of 
a partner
 as a source 
of finance.


Evaluation of 
a bank loan 
as a source 
of finance.


1


8







Judgement 
provided 
based on 
both 
sources of 
finance 
discussed.
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(b) Evaluate two sources of finance Joe Charman could use to expand Pilot Plus. [8]


Additional space for Question 1(b) only: 
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2. (a) Outline what is meant by a competitive market? [2] 
AO1 - 2 marks 
 
Award 1 mark for each valid point 
 
Indicative content: 
 
A competitive market is one where there are numerous producers that compete with one 
another [1] to provide goods and services consumers want and need [1]. A number of 
marketing strategies can be used to gain customers/market share e.g. competitive pricing [1] 
 


 
 
2. (b) With reference to the dairy industry, explain the key features of a perfectly 


competitive market.  [6] 


Band 
AO1 AO2 AO3 


2 marks 2 marks 2 marks 


2 


2 marks 
Good knowledge of the 
key features of a perfectly 
competitive market  


2 marks 
Good application to the 
dairy industry 


2 marks 
Good explanation of a 
perfectly competitive 
market and the context in 
which it operates 


1 


1 mark 
Limited knowledge of 
some features of a 
perfectly competitive 
market  


1 mark 
Limited application to the 
dairy industry 


1 mark 
Limited explanation of a 
perfectly competitive 
market and the context in 
which it operates 


0 
0 marks 


No knowledge 
demonstrated 


0 marks 
No reference to dairy 
industry 


0 marks 
No explanation undertaken 


 
Indicative content: 
 
• There are a large number of dairy farmers and not one single producer can influence 


or dictate the market. Also, like producers, not one consumer can dictate the market 
either. 


• They are price takers. One dairy farmer and one consumer cannot decide the price of 
goods or decide the quantity that will be produced. All the dairy farmer can do is produce 
the milk and accept whatever the current price is for the milk. They do not get to 
determine the price they want to sell the milk for.  


• There are no barriers to entry or exit as dairy farmers are free to leave or enter the 
market at any time. 


• The goods provided by dairy farmers are homogenous. There is no difference between 
the goods sold by one dairy farmer or any other. The goods are therefore generally quite 
similar and there is no way of telling the goods apart. 


 
Accept any other valid answer. 
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5 marks awarded. Good knowledge, understanding and explanation of 
the key features of a perfectly competitive market (AO1 - 2, AO3 - 2) 
but the application to the dairy industry is limited (AO2 - 1).


2


5












4 marks awarded. There is good knowledge, understanding and explanation of the key 
features of a perfectly competitive market (AO1 - 2 and AO3 - 2). However, the answer is not 
applied to the dairy industry (AO2 - 0).


4


2












4 marks awarded. There is good knowledge and 
understanding of the key features of a perfectly 
competitive market (AO1 - 2) but the explanation of 
these features is limited (AO3 - 1). There is also limited 
application to the dairy industry (AO2 - 1) when 
referring to small, independent family farms which 
relates to freedom of entry and exit into the market.
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2. The nature of markets in which businesses operate varies. Some markets have high levels of


(b) With reference to the dairy industry, explain the key features of a perfectly competitive
market. [6]
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3. (c) Calculate the new monthly breakeven level of output and comment on how the 
changes in costs will impact on Buzz Ltd. [4] 
AO2 - 4 marks 
 
Award 1 mark for new break-even level of output 
 
Breakeven level of output = Fixed Costs      =      £180 000         =      2 400 units 
                                              Contribution           (£130 - £55) 
 
Award 1 mark for each valid point (max of 3 marks)  
 
Indicative content: 
 
- Break-even level of output will therefore increase from 2 000 to 2 400 units 
- Buzz Ltd would have to sell 400 more hoverboards per month to break even 
- Due to the popularity of hoverboards, this may not be too much of a problem for Buzz Ltd   
- Buzz Ltd’s margin of safety would decrease by 400 units which impacts the profit margin 
- As this is a competitive market and hoverboards may be a fashion product, this decrease in 


the margin of safety may result in Buzz Ltd becoming less competitive 
- Profit would decrease by £20 000 as fixed costs increase and by a further 10% as variable 


cost per unit increases by this amount 
 
Accept any other valid answer. 
OFR applied to comments on incorrect breakeven point 
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2 marks 
awarded. The 
candidate has 
calculated the 
new break-even 
level of output 
correctly. The 
candidate has 
also given a 
brief reason how 
the changes in 
costs will impact 
Buzz Ltd.


3


2












1 AO2 mark awarded. Even though the calculation is incorrect, 
there is merit in the explanation when the candidate states that 
there will be less revenue so less profit. 


3


1












2 AO2 marks awarded. Even though the calculation is 
incorrect, there is merit in the explanation when the 
candidate states that the break-even level of output has 
increased as the business has to spend more. The 
candidate also states that Buzz Ltd need to sell more to 
break even. However, this application is superficial.
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An investigation by the BBC’s Watchdog programme found that some brands of hoverboards 
were being supplied with non-standard electric plugs, used to charge the hoverboard. 
This caused some of the hoverboards to overheat which has resulted in headlines about 
hoverboards exploding and catching fire. Television programmes such as Watchdog and Rip 
Off Britain seek to strengthen and protect the rights of consumers.


(b)	 With reference to hoverboards, describe reasons why consumers sometimes need 
protection. [4]


In order to avoid negative publicity, Buzz Ltd decided to purchase improved quality raw 
materials to produce the hoverboards causing the average variable cost to increase by 10%. 
Buzz Ltd also invested in improved machinery and training of the workforce which caused 
fixed costs to increase by £20 000 per month.


(c) Calculate the new monthly break even level of output and comment on how the changes
in costs will impact on Buzz Ltd.	 [4]
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